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26. I=<1 g Ffvew 2=@ + @G
feaa =12
RRC ‘JU &' IgTISAE 08.12.2013
(1) fAsTas SIS 9IaRaw

(2) guEE= AN
(3) qTeTHIR AR
(4) gfd=eq warTsh w1 g

Answer — 4




27. 3™ WS H W9 fRET & o2
RRC ‘Y9 ¥’ JAZHIMIS 08.12.2013
(1) @ fAdFr< |
(Z)WWM

(3) X<
(4) SRYF H & Hfﬁ%’iﬁ

Answer — 2

28. f=fafag # 9 fofg Ta R SR A
IRd N 8f1e Qa1 vgfa (fafaa
afaq fa=en) = 9nfeq fwar ar?

RRC ‘YU I’ AFHTEIE 08.12.2013
(1) dfe dHafeE  (2) s BoiA
(3) < Aravedea (4) | =

Answer — 1




29. fIc! oad & WS F TEIY
ST =1 42

RRC ‘YU &’ JEHSAIE 08.12.2013
(1) BRE (2) 3IRA (3) 85 (4) fF=D

Answer — 1

30. 94 1946 ¥ dfau= 9w &1 TS ...
g fafda aremn & aga fa@ T an

RRB ‘Y9 &' 2018
(1) dfum |9 I
(2) AFHEM
(3) &g e Qo
(4) ®fee e Ao

Answer — 4




31. f&9 FRUEY FAG 7 ANEE A9

I ! 999 o feran @
RRC ‘Y9 S’ IFHSEIE 08.12.2013

(1) Er-awghan

(2) Tirch-zfAT gu=ihan
(3) g Mo ¥
(4) SRIaa i

Answer — 2

32. WY T HEW F e ST
gl gaT 41?

RRC ‘Y4 €’ JgASTEIE 08.12.2013
(1) g:ag (2) PIADI
(3) faee (4) 4

Answer — 1




33. i JvrET WES B 92
" RRC ‘YU 81’ JGHSEIS 08.12.2013
(1) 9SG UM (2) STl C IR C |
(3) HHIART (4) oA Tl

Answer -4

34. vegEEiF WRd ® forel 7 e e
& TIIHR T 8?2 RRB‘IU 4" 2018

(1) HR1ETS (2) “Ia<q
(3) g™ (4) HER
Answer — 2
35. 3ufug fead &2

(1)108 (2)18 (3)04  (4) 208

Answer — 1




36. fa=g =t wwar &1 qeequl qead
v, forai s<cme &t faw 4
RAC ‘YU I’ FATGIIS 08.12.2013

(1) oherd (2) FreiaT
3) gsWl (4) ﬂ’f%‘fﬁﬁ'ﬁ'@
Answer =1

37. frafafea # @ ford @ g/
g foren e e
RRC ‘YU S’ FegEIS 08.12.2013

() R gERr (2 g,
(3) STRISIRT (4) [eEeT <TH

Answer — 4




38. Mgre-fa9-+1fay g1 urRa o wew
IR AHUY frg ad | fomar mT?
RRC ‘Y9 SI" TIGEIE 08.12.2013

(1) 986 3. (2) 712 %.
(3) 1001 %. (4) 1027 %.
Answer - 2

39. FIT H TSE A T A fhe
Tfsd foRan 42
RRC ‘Y4 31’ SIS 08.12.2013
(1) goifed | (2) 3% WE [
Q) IR (4)Tq

Answer — 3




40. {59 it Ik g fSoedt &
‘A foear’ =1 fmtor S e

RRC ‘YU Sl SeIIGI4IE 08.12.2013
(1) AmETEl (2) AR
(3) SIBIIR (4) TP

Answer — 1

41. A # for fHeM <1 3mA e gan an

RRC ‘YU SI' SAGEIE 08.12.2013
(1) 1942 5. (2) 1945 3.
(3) 1947 %. (4) 1949 3.

-

Answer — 1




42. fafew g 3 HF-w1 fufay i
fan, o fafew sfrea o1 @ =
WA= g3, 9Rd 3R ufFaH ¥
w9 ¥ faursq 21 m=n?

RRC ‘Y9 S’ SATRIEIS 08.12.2013
AR =l aifafas, 1947

Answer — 1

43. 1857 ¥, T W Hal fa5IEl & I<H
Y ggeH el =g T 9?
RRC ‘Ju €1’ T=T18 08.12.2013

(1) 9RPYR (2) A3
(3) 3rHdreT (4) faon

Answer — 1




44. TN AT T B 3N A g
foXg et & T waw S ggeh

a? RRC ‘YU SY’ I=78 08.12.2013
(1) a1g894 HH9E

(2) RT B 3=<Io=

(3) fbem fiyer

(4) AT AT|YeT

Answer — 1

45. ‘IS &t THT fF9 w7 913
T8 9i?  RRC'JU I’ =T 08.12.2013
MIT QI @A (4) T

Answer — 1




46. 3™ ¥ foER 9Ra ¥ wHE
&-T{&HR 9] Hi?
RRC ‘YU €1’ =15 08.12.2013
1) dits & A

Answer — 4

48. St i forass wmes o ;o

T 91?7 RRC ‘Y9 S’ T8 08.12.2013
(1) PR (2) AMRToIY
(3) SIEFIR (4) TSRl

Answer — 2




49. TAT i TH 0 § fFaa 22
RRC gqa?t Y=g 08.12.2013

(1) R qa8 () <€ @ THIT
(3) S & Y (4)?3@41

Answer — 4

50. =78 ¥ TSWl & fFE T W S @I

qr? RRC ‘YU ¥1’ 918 08.12.2013
(1) Algeligsl (2 TS
(3) wherdt (4)

Answer — 3




dg, 39T Ue W SRV T
'a_.z __43'13?{ IqAT & TEATHRR RATE0T T4




i
- FHGIIT & A ety &1 T g areq 1 Ry o)

« Ryex T UIRE & 919 326 5.9, ¥ grzswiw @1 3% (Ravwn &1 32)
gal

» Rdpax 9 Q91 7 AT T IR IR+ | 71 R Ry e =t |
¥ q9g el

. RiF=R 3 Yore § @) TR w@nfia fhu—fAergan aen gehal
L-szs's‘.g. ¥ ¥ ¥ Riee A TG A =

ames AR
TSI q9H 319-335 .
3R] ~ 335-375 %.

T fedi 380-412 3.

FHARTA T9H 412-455 3.
L= B 455-467 3.







